Code No: 137CQ
JAWAHARLAL NEHRU TECHNOLOGICAL UNIVERSITY HYDERABAD

BT

Note:

1.a)

b)

c)

........... e, d)
J )

i
o
IO

2.a)
b)

3.a)

""""" y,ATime: 3Touys ) e

A P S e

k.,
1 i
|

1MACsALIT

R16

B. Tech 1V Year | Semester Examinations, December - 2019
FLEXIBLE A.C. T RANSMISSION SYSTEMS
’\ /",',.'.‘:...‘f" - -I'L'(,lnml ‘m(l Elculmms U/ h;_,mc(.ung,) {

This question paper contains two parts A and B,

Part A is compulsory which carries 25 marks. Answer all questions in Part A. Part B
consists of 5 Units. Answer any one full question from cach unit. Each question carries 10
marks dn(l may havea, b as sub quc‘;tlonb
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What is the need for FACTS Controllers? (2]
Write some of the applications of FACTS controllers. [3]
Explain basic principle of voltage source converter. (2]
Brief the concept of. pulse width modylation. [3]-. -

thlns the basic! prmclplc ofxcaclllve powc; gencnanoh ,
Write: Objectives of Shunt Compcnsatlon !
Draw the VI characteristics of.SVC.

Define Static synchronous compensator.
Enumerate the necessity for Series Compensation.
Name the different modes of TCSC,

List out various FACTS controllers with their control attributes.
Write down the importance of controllable parameters.

OR
What are the factors which limit the loading capabilities of transmission lme‘7
Descrlbe the 1mpol1an¢c of dlffelent typcs of FACTS comrollels

With & neat sketch ex1 lam about full WaVe volt age sourée bndge convertel
OR

Compare current source converter with voltage source converter.

Explain the principle of 3-level voltage source converter.

Disgugs.the terms.in. detail: :
4) Coimpensator Requn ements |
b) Power Oscillation Dampmo '

OR
With a neat sketch, explain the working of hybrid var generators.
Write short notes on Improvement of Transient Stability. [5+5]
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8.a)  Why the static compensator is not used as a perfect terminal voltage regulator?
b) Co_mpare SvC w1th STATCO\I

[5+5]

[10]

10.a) Build a circuit diagram and explain about the working of TCSC.
b)  What are the advantages and applications of GSC? [4+6]
OR

What isthe basicidea behind series capamtlve compensahon in de’tml'L I
leferentiate berween TSSC and TCSC " =
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